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Pack 1 Session D Answers
Activity: Build and adjust

1) Draw and writs numbers wih exactly five Dienes blocks

2
5,14,41,23,50
104, 122, 131, 140, 203, 212, 221,230,
302, 320, 401, 410

13

2) Ciree shusys, somstimes or nsver and give examples to ugport

Vos st
> Myouadd 110 mumber, e digtnthe |

‘ones place changes.

Qe A
- J

Tt
G

[ 1you add 110 @ number, the digit i the
‘ @rever Doesritchange: 38+ 1239

1you a0d 110 2 number, the digitinthe
" huncreds place changes
C@oneiines> Changes: 199+ 1= 200
@oever Dossit change: 234 + 2235
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Pack 2 Session A
Activity: Describing equal groups

1) Wrie four eleuiationsto describe the counters

2)Draw two different seis of counters to show he calculatons.

7x3=21
21+7
21-3
3)Table amangements.

2) Between 30 and 40 people are satatables of 4. (]
Al the ables are ful. o o
How many tables coud there be?

8 ables is 32 peopie 0 tables s 38 people 0
and 10 ables is 40 peosle

5) Between 40 and 60 pecple re sat st sbles of 5. [}

A the ables sre ol
How many tables coud there be?

There coul be batwesn & snd 12 tabies.

) I nesdito sest 47 people. Wt are my opions.
wih the tabes shown sbove”

10 ables of 5 with 3 spare seats
12 tables of 4 wih 3 spare seats.
Gtables of & 5nd a tanle o § with 2 spare sests
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Pack 2 Session Answers

Activity: Maliplicaton sitsatons
‘Completsthe images models and caleulations and answer the question

Problem:
How many cays e therein 3
wesks?

How many wesks is 21 days?

7x3=21 | Thare e 21 daysin 3 wesks.

21 dayis Swecks.
Frobiem oder .
Tremaimassis 20 kogams. [ B g
Coonwagni o4 ograme |8 g [,
s A B &
How many weights are there? B M e
Catutaions Twer
e Tree are 6 i

22T weis wih mass o 1
axg=24 o “ @
Frosiem oder

18 ires i pouredinto 3

0o O O
buckets 50 hat there are squsl
smounts in eseh.
How much iqud s n each

bucker?
Catoutstions: Anewer
EX3=13  3x6=13 | Thers e iresin esch bucket

18 e 1 3 buskets of & res.
me3ze
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Pack 2 Session C Answers
Activity: Multpication and area of rectangles.

How many squares does sach rectangle cover? Wiie calulstions that ssch
rectangle can reprasent

P

4em

3cm
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Pack 2 Session D Answers
Activity: Using muttiplication to compare

1) Use mulipliction to compare the amaunt each person has. What
Giffarant sentences could sach person <37

e i 3 Sz more tan e

| have 3 times mors than i Ihave s th ofthe amount he.
£2115 2 tmes more than £7 has
I can buy somsthing that costs 3 Iwould nesd o tiple my.
"imes sz men amount o have the same s
him

;wg‘fx gi}g

. \ T ——
g fesdin iy

£2

o

6 Use mupicatonto descrbe s
st 35 many vays 35 you ¢
Ther 2 Smes more yoghurs nhe
125k

0 The 12 pack osts 3tmes e prcs
The 3 packis i ofthepce of

bl ook e s samerce || 2 12pack

The 3 packis a uarer o e et

/ Q‘Mhmmmﬁpﬂ’
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18 Fireworks

For 19 stars:
5 fireworks made 3 stars and
1made 4 stars, or
1 firework made 3 stars and
4 made 4 stars

For 25 stars:
3 fireworks made 3 stars and
4 fireworks made 4 stars, or
7 fireworks made 3 stars and
1 firework made 4 stars
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Activity: Counting and grouping Answers

1) Completsthe table fo show each number wth Disnes and n words.

e —— =
[[[[ ., [ewm
: o
||

2) 1fyou countin steps of 10 staring at 58, il you say ihese numbers?
Tk the ones you wil say. What other numbers would you say?

than 5 wih 3
e ones place.
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Pack 1 Session B Answers
Activity: The value of the place

1) Use these dighs to create numbers fo each of the properties

) Anumberless than 100 54,52,45,42,24,25
5) Anumber greater han 300 542,524,452, 425
) An sven numbar e
@) Anumber iat you can show
with 7 Dienes biocks 52.25
) An odd number 425,245,45,25
2) There sre many ways to complete
Examples Nonexamples
Anumberwin  tans
120 10
thatis greater than
w0 e 25
A ven numberwith 40 25
hundrecs P9 s
Arumber with 8 ones
18
that s greater than s
900 but s than 200 208
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Answers

%2
4042

30+12
20422
242

10+32
33+9

80+4
60+24
50+34
51433

30+54
20+64
10474

168
100+60+8
100 +50+18
100 +40 +28

90+70+8
90460+ 18

90+50+28

80+80+8







